CR - Constructed Response
EBSR - Evidence-Based Selected Response
MC — Multiple Choice

MS — Multi-Select Response

ITEM TYPES

SA - Short Answer
TE — Technology Enhanced
WP — Writing Prompt

Session| Item Type MLS Code Answer Point(s) Point Breakdown
1 1 MC 8.EEILA.3 C 1
1 2 MC 8.EEI.LA.2.a B 1
1 3 MS 8.F.A3.c A C 1
1 4 MC 8.EELLA4.a B 1
Between 1 and 2
VZ, T
CR (Paper) 2 .
1 5 i 8.NS.A.2 Between 2 and 3 1 e All correct for 1 point
TE (Online) NS
5
Between 3 and 4
(V35)
1 6 MS 8.GM.A.1.a C,D,F 1
1 7 MC 8.EEILA.2.b B 1
1 8 MS 8.NS.A.l.a A, B,D 1
1 9 MC 8.F.B.5 B 1
SA (Paper &
1 0 | ((Onﬁne)) 8.NS.A.Lc OR 1
6363
1 11 MS 8.EEILA.1 A B, C 1
2 1 MC 8.EEI.B.6.b A 1
2 2 SA 8.F.B.4.c 0 1
2 3 MC 8.EEI.C.8.a A 1
2 4 MS 8.DSP.A.3 B,C,D 1
2 5 MC 8.F.A.2 B 1
2 6 MC 8.GM.B.7 C 1
2 7 MC 8.EEI.B.5.b A 1
Letters = Columns
2 8 ?EA((OPEIF;EQ) 8.F.A3.a Numbers = Rows 1 e All correct for 1 point
Al, B2, A3
2 9 SA 8.GM.C.9.a 72 1
2 10 MC 8.EEI.C.8.c C 1
First Line
less likely
2 11 _?EA((S:EEQ) 8.DSP.A.4.a sr:g:zlliili-:: 1 e All correct for 1 point
Third Line
less likely
2 12 MS 8.GM.A.5.d B, E 1
2 13 MC 8.EEI.C.7.a C 1
2 14 SA 8.F.A.3.3 (0,-4) 1
2 15 MC 8.GM.A.5.¢c B 1




CR - Constructed Response
EBSR - Evidence-Based Selected Response
MC — Multiple Choice

MS — Multi-Select Response

ITEM TYPES

SA - Short Answer
TE — Technology Enhanced
WP — Writing Prompt

Session| Item Type MLS Code Answer Point(s) Point Breakdown
First Box
2
2 16 SA 8.EELLA.4.a second Box 1
4
2 17 MC 8.DSP.A.2 C 1
2 18 MC 8.F.A.l.c A 1
2 19 MC 8.EEL.B.5.a C 1
2 20 MC 8.GM.A.2.a B 1
2 21 SA 8.EEI.B.6.b y=2=+3 1 o O euiElsniceeon i
3 slope-intercept form
Plot points at (5, -2),
CR (Paper 2,-3),(5,-4) and .
2 22 TE ((Onri)ne)) 8.GM.A.3 dr(aw Iirze(s to cc))nnect 1 e All correct for 1 point
the points
2 23 MC 8.F.A3.b B 1
2 24 MC 8.GM.C.9.b C 1
2 25 MC 8.EEI.C.7.b C 1
2 26 MC 8.F.B.4.a D 1
2 27 MC 8.GM.B.6 B 1
2 28 MC 8.EEI.C.8.b A 1
2 29 SA 8.DSP.A.4.b % 1 e Or equivalent fraction
2 30 MC 8.EEl.C.8.d C 1
2 31 MC 8.GM.A.3 D 1
2 32 TE 8.EEI.C.8.a Plot point at (10, 4) 1
2 33 SA 8.GM.A.5.a 40 1
2 34 MC 8.EEL.B.6.a B 1
2 35 MC 8.GM.B.8 C 1
3 1 MC 8.F.A.3.a B 1
3 2 CR 8.F.B.4.c see handscoring 2
rubric
3 3 SA 8.EE1.B.6.b y = -Ax + 1120 y | ® Orequivalent equation in
slope-intercept form
e 2 points for a line graphed
CR (Paper) line graphed through through the 2 indicated points
3 4 TE (Online) 8.F.B.5 the points (0,1450) 2 e 1 point for a line graphed
and (100,950) through only 1 of the indicated
points
3 5 CR 8.EEI.C.8.C see handscoring 1
rubric
3 6 MC 8.EEL.C.8.b A 1




